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. (20%) Justify the fnrmqla,'c;f Euler:
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2. (20%) Please use the priuciple of mathematical induction to show that {1+ 1)" > 2 for
all n > 2. '

3. (15%) Bach f. is a polynomial and {f.} converges uniformly 6o f on [0,1]. Prove or
disprove that f is a polynomial.
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. (15%) Let {x.} be a convergent sequence in a wnetric space and ﬂlim iy = . Prove or
—+iEa1
disprove that the set 4 = {21,223, - } U {2} is compact?

5. (18%) Define

. T i !e—n:z.(t?-i-l]
f(fﬂ:!:([:l e dt) . glx)= A R di.

Show that f{z) + g(x) =% forall z ¢ R.

8. (13%) Given E Cay o © B, pub @ = Lim sup 4/]eq|. Prove that if & > 1, then the series
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